| i          |          | RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL<br>(Program Year 1993 JTPA Title II-C Contract Proposal |  |  |  |  |  |
|------------|----------|--|--|--|--|--|--|
| 1          | (11)     | with Arizona Department of Economic Security)  |  |  |  |  |  |
| 2          |          | RESOLUTION NO. 93-221  |  |  |  |  |  |
| 3          | WHEDEAC  | the Job Training Partnership Act was enacted into law in 1982  |  |  |  |  |  |
| 4          | WHEREAS, | the Job Training Partnership Act was enacted into law in 1702  |  |  |  |  |  |
| 5          |          | replacing CETA; and  |  |  |  |  |  |
| 6          | WHEREAS, | funding is made available to State and Tribal Governments to   |  |  |  |  |  |
| 7          |          | establish programs for improving the employment prospects of   |  |  |  |  |  |
| 8          |          | aligible neverns through the designation of service delivery   |  |  |  |  |  |
| 9          |          | eligible persons through the designation of service delivery   |  |  |  |  |  |
| 10         |          | areas; and   |  |  |  |  |  |
| 11         | WHEREAS, | the State of Arizona is entitled to JTPA funds to develop a  |  |  |  |  |  |
| 12         |          | network of employment training programs throughout the State;  |  |  |  |  |  |
| 13<br>14   |          |  |  |  |  |  |  |
|            |          | and  |  |  |  |  |  |
| 15<br>16   | WHEREAS, | the Indian Reservations in Arizona have been designated as   |  |  |  |  |  |
| 17         |          | service delivery areas and are eligible to receive State JTPA  |  |  |  |  |  |
| 18         |          | funds; and   |  |  |  |  |  |
| 19         | WHEDEAC  | the JTPA Program submits the following documents for review  |  |  |  |  |  |
| 20         | WHEREAS, | the JIFA Flogram submits the following documents for feview  |  |  |  |  |  |
| 21         |          | and approval for the Title II-C Contract Proposal for Program  |  |  |  |  |  |
| <b>2</b> 2 |          | Year 1993:   |  |  |  |  |  |
| <b>2</b> 3 |          | 1) Program Year 1993 Administrative Cost Pool budget   |  |  |  |  |  |
| 24         |          | reflecting the final allocation of \$14,371.; and  |  |  |  |  |  |
| <b>2</b> 5 |          | 2) Program Year 1993 Program budget reflecting the final   |  |  |  |  |  |
| 26         |          | allocation of \$76,644.  |  |  |  |  |  |
| 27         |          | For a Grand total amount of \$91,015.  |  |  |  |  |  |
| 28         |          |  |  |  |  |  |  |

|            | RESOLUTION NO. 93-221   |  |  |  |  |  |  |  |
|------------|---|--|--|--|--|--|--|--|
|            | (Program Year 1993 JTPA Title II-C Contract Proposal with Arizona Department of Economic Security)  |  |  |  |  |  |  |  |
| 1          | Page 3 of 4   |  |  |  |  |  |  |  |
| 2          |   |  |  |  |  |  |  |  |
| 3          | The foregoing Resolution was passed by the Tohono O'Odham Legislative   |  |  |  |  |  |  |  |
| 4          | Council on the <u>11TH.</u> day of <u>JUNE</u> , <u>1993</u> at a meeting at which a quorum was present with a vote of <u>1,639.0</u> FOR; <u>-0-</u> AGAINST; <u>-0-</u> NOT VOTING; |  |  |  |  |  |  |  |
| 5          | and 124.0 [07] ABSENT, pursuant to the powers vested in the Council by  |  |  |  |  |  |  |  |
| 6          | Section 1 (f) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved                                  |  |  |  |  |  |  |  |
| 7          | by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on   |  |  |  |  |  |  |  |
| 8          | March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat.   |  |  |  |  |  |  |  |
| 9          | 984).   |  |  |  |  |  |  |  |
| 10         |   |  |  |  |  |  |  |  |
| 11         | TOHONO O'ODHAM LEGISLATIVE COUNCIL  |  |  |  |  |  |  |  |
| 12         |   |  |  |  |  |  |  |  |
| 13         | Dey Roman   |  |  |  |  |  |  |  |
| 14         | Alex J. Ramon, Legislative Chairman   |  |  |  |  |  |  |  |
| 15         | 14th day of   |  |  |  |  |  |  |  |
| 16         |   |  |  |  |  |  |  |  |
| 17         |   |  |  |  |  |  |  |  |
| 18         | ATTEST:   |  |  |  |  |  |  |  |
| 19         |   |  |  |  |  |  |  |  |
| 20         | Juesa M. Chozynha   |  |  |  |  |  |  |  |
| 21         | Teresa M. Choyguha, Legistative Secretary   |  |  |  |  |  |  |  |
| 22         | 14th day of   |  |  |  |  |  |  |  |
| 23         |   |  |  |  |  |  |  |  |
| 24         | Said Resolution was submitted for approval to the office of the Chairman of   |  |  |  |  |  |  |  |
| <b>2</b> 5 | the Tohono O'Odham Nation on the \\To day of  1943,   |  |  |  |  |  |  |  |
| 26         | at 503 o'clock, 10. M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective upon his approval  |  |  |  |  |  |  |  |
| 27         | or upon his failure to either approve or disapprove it within 48 hours of   |  |  |  |  |  |  |  |
| 28         | submittal.  |  |  |  |  |  |  |  |

|            | (Program Veer 1002 ITDA Title II C Contract Proposel   |  |  |  |  |  |
|------------|--|--|--|--|--|--|
|            | (Program Year 1993 JTPA Title II-C Contract Proposal with Arizona Department of Economic Security) |  |  |  |  |  |
| 1          | Page 4 of 4  |  |  |  |  |  |
| 2          |  |  |  |  |  |  |
| 3          | TOHONO OPODILAM I ECISI ATIVE COUNCII  |  |  |  |  |  |
| 4          | TOHONO O'ODHAM LEGISLATIVE COUNCIL   |  |  |  |  |  |
| 5          | Color Roman  |  |  |  |  |  |
| 6          | Alex J. Ramon, Legislative Chairman  |  |  |  |  |  |
| 7          |  |  |  |  |  |  |
| 8          |  |  |  |  |  |  |
| 9          | [X] APPROVED on the 15 day of  |  |  |  |  |  |
| 10         | 11.30  |  |  |  |  |  |
| 11         | [ ] DISAPPROVED) at 4.30 o'clock, 9M.  |  |  |  |  |  |
| 12         | A ( . 2  |  |  |  |  |  |
| 13         | SYLVESTER LISTO, Chairman  |  |  |  |  |  |
| 14         | TOHONO O'ODHAM NATION  |  |  |  |  |  |
| 15         |  |  |  |  |  |  |
| 16         | . The  |  |  |  |  |  |
| 17         | Returned to the Legislative Secretary on the day of day of day,                                    |  |  |  |  |  |
| 18         | 19 93 , at 9:05 o'clock, A.M.  |  |  |  |  |  |
| 19         | LA A MANA  |  |  |  |  |  |
| 20         | graunda allen Jos:   |  |  |  |  |  |
| 21         | Teresa M. Choyguha, Legislative Secretary  |  |  |  |  |  |
| <b>2</b> 2 |  |  |  |  |  |  |
| <b>2</b> 3 |  |  |  |  |  |  |
| 24         |  |  |  |  |  |  |
| <b>2</b> 5 |  |  |  |  |  |  |
| 26         |  |  |  |  |  |  |
| 27         |  |  |  |  |  |  |
| 28         |  |  |  |  |  |  |

MOVED: COUNCILWOMAN FRANCES FRANCISCO SUBJECT: PROGRAM YEAR 1993 JTPA TITLE II-C CONTRACT

SECOND: COUNCILMAN WILLARD JUAN, SR. PROPOSAL WITH ARIZONA DEPARTMENT OF ECONOMIC

DATE: JUNE 11, 1993 SECURITY

| DISTRICTS      | REPRESENTATIVES   | #<br>OF VOTES | FOR     | AGAINST | NOT<br>VOTING | ABSENT    |
|----------------|---|---------------|---------|---------|---------------|-----------|
| SIF OIDAK      | 1. Willard Juan, Sr.<br>(Delbert Thomas)  | 75.5          | x       |         |               |           |
| 131.0          | 2. Mary Ann Antone<br>(Nellie Miguel)   | 75.5          | X       |         |               | Х         |
| SELLS<br>290.0 | 1. Andrew Patricio<br>(Lucille Encinas)<br>2. Joseph T. Joaquin<br>(Allen W. Garcia, Jr.) | 145.0         | x       |         |               | х         |
| 290.0          |   | 145.0         | x       |         |               |           |
| SCHUK TOAK     | 1. Frances Francisco  | 56.5          | X       |         |               |           |
| 113.0          | 2. Kenneth J. Antone (  | 56.5          | X       |         |               |           |
| SAN XAVIER     | 1. Eugene Enis<br>(Michael R. Rios)   | 67.5          | x       |         |               |           |
| 135.0          | 2. Dennis Ramon (   | 67.5          | Х       |         |               |           |
| BABOQUIVARI    | 1. Frances Miguel   | 115.0         | x       |         |               | x         |
| 230.0          | 2. Earl A. Francisco<br>(Lucilda Norris)  | 115.0         | X       |         |               |           |
| GU ACHI        | 1. Willard Anita  | 90.0          | х       |         |               | X         |
| 180.0          | 2. Alex J. Ramon<br>(Marian Johnson)  | 90.0          | X       |         |               |           |
| PISINEMO       | 1. Chester Antone<br>(Fernando Valentine)   | 64.0          | х       |         |               |           |
| 128.0          | 2. Johnson Jose<br>(Roseleen Antone)  | 64.0          | X       |         |               |           |
| SAN LUCY       | 1. John Reno  | 49.0          | х       |         |               |           |
| 98.0           | 2. Albert Manuel, Jr.<br>(Ernestine Marquez)  | 49.0          | Х       |         |               |           |
| GU VO          | 1. Emilio Lewis (Anthony Flores)  | 62.0          |         |         |               | х         |
| 124.0          | 2. Michael Flores<br>(Fern Salcido)   | 62.0          |         |         |               | X         |
| HICKIWAN       | 1. Manuel Osequeda, Jr.   | 68.0          | Х       |         |               |           |
| 136.0          | 2. Lloyd Francisco<br>(Henry A. Ramon)  | 68.0          | Х       |         |               |           |
| CHUKUT KUK     | 1. Alberta M. Lopez<br>(Berdella Jose)  | 89.0          | х       |         |               |           |
| 178.0          | 2. Kenneth Williams   | 89.0          | X       |         |               | X         |
|                | TOTAL   | 1,763.0       | 1,639.0 | -0-     | -0-           | 124.0 [07 |